
Water footprints

Global average water footprint: 70 litres for one apple.

We assume here a hundred-grams apple. One glass of apple juice (200 ml) costs about 190 litres of 
water.

Global average water footprint: 15, 500 litres of water per kg of beef.

In an industrial beef producƟon system, it takes in average three years before the animal is slaughtered 
to produce about 200 kg of boneless beef. 

The animal consumes nearly 1300 kg of grains (wheat, oats, barley, corn, dry peas, soybean meal and 
other small grains), 
7200 kg of roughages (pasture, dry hay, silage and other roughages), 24 cubic meter of water for drinking
and 7 cubic meter of water for servicing. 

This means that to produce one kilogram of boneless beef, we use about 6.5 kg of grain, 36 kg of 
roughages, and 155 litres of water (only for drinking and servicing).
Producing the volume of feed requires about 15300 litres of water in average.

Global average water footprint: 3900 litres for 1 kg of chicken meat.

In an industrial chicken farming system, it takes 10 weeks on average before the chicken is slaughtered.
It will produce 1.7 kg of chicken meat.
A chicken consumes about 3.3 kg of grains (mainly soybean meal, wheat, corn, canola meal and mill 
screen) 
and 30 litres of water for drinking and servicing the farmhouse.
This means that to produce one kilogram of chicken meat, we use about 2 kg of grains and 20 litres of 
drinking and servicing water.
Producing 2 kg of feed of this composiƟon takes about 3.9 m3 of water on average.

Global average water footprint: 30 litres of water for one cup of tea.     

To produce 1 kg of fresh tealeaves we require 2400 litres of water.
One kg of fresh tealeaves gives 0.26 kg of made tea, so that 1 kg of made tea (black tea as we buy it in 
the shop) costs 9200 litres of water.
For a standard cup of tea we require 3 gram of black tea, so that a cup of tea requires 30 litres of water.
A standard cup of tea (250 ml) thus requires 120 equal-sized cups of water.
All together, the world populaƟon requires about 30 billion cubic metres of water per year in order to be 
able to drink tea.
This is equivalent to 4 Ɵmes the annual Meuse runoff.
Most tea is produced in rain-fed areas; only a minor fracƟon of the world tea producƟon comes from 
areas with supplementary irrigaƟon (a pracƟce someƟmes applied at lower alƟtudes).
The water needs for post-harvest processing can be neglected if compared to the water needs for 
growing the tea plant.
The water footprint of tea thus mainly refers to rainwater use. 

Global average water footprint: 140 litres for 1 cup of coffee.

It costs about 21000 litres of water to produce 1 kg of roasted coffee. For a standard cup of coffee we 
require 7 gram of roasted coffee, so that a cup of coffee costs 140 litres of water. Assuming that a 
standard cup of coffee is 125 ml, we thus need more than 1100 drops of water for producing one drop of 
coffee. Drinking tea instead of coffee would save a lot of water. For a standard cup of tea of 250 ml we 
require 30 litres of water. 
The world populaƟon requires about 120 billion cubic metres of water per year in order to be able to 
drink coffee. This is equivalent to 1.5 Ɵmes the annual Rhine runoff and consƟtutes 2 % of the global 
water use for crop producƟon. InternaƟonal trade in coffee products is responsible for 80 billion cubic 
meters of virtual water exports, which is about 6% of the internaƟonal virtual water flows in the world. 
Among all the crop and livestock products coffee stands at the top posiƟon in the list of global virtual 



water flows.

Global average water footprint: 3400 litres for 1 kg of rice.

The rice fields in the world consume about 1350 billion cubic meters of water annually, which is 21 % of 
the global water use for crop producƟon.
Paddy rice (the rice as harvested from the field) has consumed 2300 litres of water per kg.
One kg of paddy rice produces 0.67 kg of milled rice on average.
In the shop we buy milled rice in the form of white rice or broken rice.
In this form, rice costs 3400 litres of water per kg.
This total volume of water refers to a mix of rainwater (‘green water’) and irrigaƟon water (‘blue water’).
The raƟo of blue to green water depends on the producƟon circumstances at the place of growth.
In China for example, most rice is irrigated, which means a relaƟvely high raƟo blue/green, while in India 
irrigaƟon of rice is much less common.
InternaƟonal rice trade brings along large internaƟonal virtual water flows. 
The sum of virtual water flows between countries related to rice trade is about 75 billion cubic meters of 
virtual water per year.

Global average water footprint: 75 litres of water for one glass of beer.

One glass contains about 250 ml of beer.
Most of the water behind the beer is for producing the barley.

Global average water footprint: 900 litres for 1 kg of potato flakes

A bag of potato crisps (200 gr) has a water footprint of 185 litres.

Global average water footprint: 2400 litres of water for one hamburger!

Most of the water is needed for producing the beef contained in the hamburger. In our hamburger we 
assumed there is about 150 gram of beef

Global average water footprint: 1500 litres of water for 1 kg of cane sugar. 

Sugar can be produced from different crops, such as sugar cane or sugar beet. We consider here the case
of sugar cane. It takes about 175 litres of water to produce 1 kg of sugar cane. About 11% of the sugar 
cane is sugar, so that 1 kg of sugar cane gives 0.11 kg of sugar. Hence, for 1 kg of refined sugar we did 
require about 1500 litres of water.
Sugar cane consumes about 220 billion cubic meters of water annually, which is 3.4 % of the global water
use for crop producƟon.

Global average water footprint: 40 litres of water for one slice of wheat bread.

Producing wheat costs 1300 litres of water per kg (global average).
One slice of bread has a weight of about 30 gram, which implies a water footprint of 40 litres. 
If the bread is consumed together with 1 slice of cheese (10g), then it all together costs 90 litres of water.

Global average water footprint: 16600 litres for 1 kg of leather.

The water footprint of leather highly depends upon the kind of animal it is produced from.
For the tanned leather from a bovine cow it costs about 16000 cubic meters of water per ton of leather.
Besides hide and skin an animal also produces other products such as milk, meat and bones etc.
The volume of water consumed during the enƟre life span of the cow is thus aƩributed to these products
based on their relaƟve market values and quanƟty obtained per animal.




